A f(x) = —4x% + kx + 17F QA4 x - 1 2 po] Do] 225
&4 k9] Zt= otolt,

fx)=-4+kx+1=(x-1)Q(x)
f)=-4+k+1=0
k=3
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x of tRt oA 4x® - 302 +ax+b 7Hx+1)(x-3) =
a+ b9 & Asteiet.

> E:

> =g -37

B

P(x) = 4x3 = 3x% + ax + b=} 5tAL P(x) 7}
(x+1)(x=3)= Q1= 7HA 2™
P(-1)=P(3)=0

P(-1)=-4-3-a+b=0 .. a-b=-7
P(3)=108-27+3a+b=0 .. 3a+b=-81
Soa=-22, b=-15
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i)x=3=2e=1
i)x=2=a-b+c-d+1=0
)x=4=a+b+c+d+1=16
W)x=4=16a-8 +4c—-2d+1=1

)

V)x=5=>16a+8b+4c—-2d+1=1
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@ x*(a-b)-y*(b-a) = (a=Db)(x+y)(x-y)
© 9x? + 3xy —2y% = (3x—2y)(3x +y)
© x*-125= (x-5)(x? = 5x + 25)

@ 26 —xy-y?—dx+y+2=02x-y+2)(x-y+1)

o @1 @24  @3A G

B

@ x*(a-b) = y*(b-a) = x*(a=b)+y*(a=b) = (a—b)(x*+y?)
© 9x% + 3xy - 2y% = (3x + 2y)(3x - y)
© x* - 125 = (x - 5)(x2 + 5x + 25)
@2x%2—xy—y2—4x+y+2

=2 - (d+y)x-(?-y-2)

=2 - (4+y)x-(-2)(0+1)

={2x+ (-2} {x-(+1)}

=2x+y-2)(x-y-1)




